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Itemcode : CD1121
Q1 : For children with ADHD, the ability to learn is severly limited because they

(a) are mildly retarded

(b) act on impulses and cannot concentrate

(c) must take stimulants which shortens attention span
(d) are given sedatives which makes them listless

Itemcode : CD1122
Q2 : The condition in which a female has only one 'X' chromosome is known as

(a) Down's syndrome

(b) Klinefelter's syndrome
(c) Turner's syndrome
(d) Wilson's disease

Itemcode : CD1123
Q3 : Highly acidic foods can remain edible for more than months

(a) 12-18

(b) 03to8

(c) 24 to 28

(d) more than 28

Itemcode : CD1124

Q4 : OPV are the predominant vaccine used in the fight to eradicate
(a) Polio

(b) Measles

(c) Pneumonia
(d) Tuberculosis

Itemcode : CD1125

Q5: education happens from a theoretical or conceptual framework and leads to actual or practical
experience

(a) Formal
(b) Informal
(c) Structured
(d) Experiential

Itemcode : CD1126

Q6 : Bruner's hierarchy of learning by a child takes place through three levels of representation. The level in which the child
deals with mental images of objects, but does not manipulate them directly, has been referred to by him as the

(@) iconic level

(b) symbolic level
(c) enactive level
(d) conceptual level

Itemcode : CD1127
Q7 : Which one set of the following is the correct order for Piaget's Theory of Cognitive Development?

(a) Preoperational, sensorimotor, concrete operational, formal operational
(b) Preoperational, sensorimotor, formal operational, concrete operational
(c) Sensorimotor, preoperational, formal operational, concrete operational
(d) Sensorimotor, preoperational, concrete operational, formal operational

Itemcode : CD1128

Q8: In demonstration all practices such as improved seeds, fertilization, irrigation and cultural
practices combine together to show maximum results

(a) Composite
(b) Simple
(c) Method
(d) Result
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Itemcode : CD1129

Q9 : During a short series of lectures usually by 2-5 speeches with different viewpoints are presented
followed by question answer session

(a) Panel Discussion
(b) Symposium

(c) Seminar

(d) Conference

Itemcode : CD1130
Q10 UNICEF stands for

(a) United Nations Internal Children Emergency Fund

(b) United Nations International Children Emergency Fund
(c) United National Integrated Children Emergent Funds
(d) Universal Children Internal Emergency Fund

Itemcode : CD1131
Q11 An in-depth study of a way of life of a group of people in their natural setting is referred to as

(a) ethnographic study
(b) case study

(c) survey

(d) experimental study

Itemcode : CD1132
Q12 In the case of human development, the strongest evidence for the critical-period hypothesis is found in

(a) Imprinting

(b) Language acquisition

(c) Embryonic development

(d) Development of vocational interests

Itemcode : CD1133
Q13 Which one set of the following psychologists developed a theory that early experiences affect adult behaviour?

(a) Freud, Watson and Harlow
(b) Freud and Harlow

(c) Watson and Freud

(d) Harlow and Watson

Itemcode : CD1134

Q14 Studies of a sample of people in which different information is obtained from the same people at various time intervals
across a long period of time

(a) Longitudinal Study
(b) Horizontal Studies
(c) Marginal Studies
(d) Cluster Study

Itemcode : CD1135

Q15 When a schedule caste member gets the opportunity to a high position it is referred to as mobility in
that society

(a) Vertical Mobility
(b) Horizontal Mobility
(c) Diagonal Mobility
(d) Bilateral Mobility

Itemcode : CD1136
Q16 When there is stratification in a society it is referred to as society

(@) Hierarchical
(b) Universal
(c) Horizontal
(d) Vertical

Itemcode : CD1137
Q17 Cephalocaudal sequence of development proceeds from

(a) feet to head
(b) head to feet
(c) central part to the peripheral part of the body
(d) peripheral part to the central part of the body

Itemcode : CD1138
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Q18 Which of the following can result from the presence of a recessive gene?

(a) Phenylketonuria
(b) Epilepsy

(c) Down's syndrome
(d) Schizophrenia

Itemcode : CD1139
Q19 The age at which distress over separation from the caregiver appears,

(a) is similar for all infants across all cultures and types of child-rearing practices

(b) depends on whether the infant had experienced fearful separations from the caregivers
(c) peaks at about 7 or 8 months

(d) is earlier than the appearance of stranger anxiety

Itemcode : CD1140
Q20 One of the main social issues in India is the

(a) Child Marriage
(b) Sati

(c) Caste System

(d) None of the above

Itemcode : CD1141
Q21 -deficiency in the diet is the major leading cause of anemia

(a) Iron

(b) Vitamin A
(c) Vitamin D
(d) Vitamin B

Itemcode : CD1142
Q22 A severe deficiency of is referred to as Pellgra

(a) Niacin
(b) Iron

(c) Vitamin D
(d) Vitamin E

Itemcode : CD1143

Q23 In Bandura's research on aggression and observational learning, he found that the number of aggressive acts displayed
was at its highest when observing

(a) A Model Act Aggressively
(b) A Model Act Pleasantly
(c) A Model Do Nothing

(d) All of these

Itemcode : CD1144

Q24 Kohler's work with chimpanzees is said to illustrate the effect of insight learning, when the monkey gathered the
necessary tools, such as the sticks, this stage was known as

(a) Preparation
(b) Incubation
(c) Insightful experience
(d) Verification

Itemcode : CD1145

Q25 - is especially important for fetal development and can lead to severe birth defect, growth
problems or anemia in children.

(a) Foliate

(b) Vitamin D
(c) Vitamin E
(d) Vitamin A

Itemcode : CD1146
Q26 is essential for healthy bone development and is the main cause of osteoporosis.

(a) Foliate

(b) Vitamin D
(c) Vitamin E
(d) Vitamin A

Itemcode : CD1147

Q27 United Nations convention on the rights of a child covers articles covering all four major categories of a
: child's right.
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(a) 54
(b) 74
(c) 34
(d) 25

Itemcode : CD1148

Q28 Memories of historical facts are to memory, as memories of your breakfast this morning are to
memory

(a) Episodic; procedural
(b) Semantic; episodic
(c) Procedural; semantic
(d) Long term; short term

Itemcode : CD1149
Q29 According to Tulving, the three systems of memory are

(a) Immediate memory, short term memory and long term memory
(b) Working memory, meta memory and short term memory

(¢c) Procedural memory, semantic memory and episodic memory

(d) Sensory memory, mnemonics and secondary memory

Itemcode : CD1150
Q30 Which one of the following is the correct chronological order of motivational set?

(a) Goal directed behaviour, attainment of goal, drive, satisfaction
(b) Drive, satisfaction, attainment of goal, goal directed behaviour
(c) Drive, goal directed behaviour, attainment of goal, satisfaction
(d) Goal directed behaviour, drive, satisfaction, attainment of goal

Itemcode : CD1154

Q31 Choose the right word in the blank:
A vindictive person is one who is

(a) Unpopular
(b) Prejudiced
(c) Revengeful
(d) Naive

Itemcode : CD1157

Q32 Choose the right word in the blank:
: He to listen to me and walked away.

(a) Refused
(b) Disliked
(c) Rejected
(d) Denied

Itemcode : CD1159
Q33 A book that lists words in groups of synonyms is known as

(a) Antonym
(b) Thesaurus
(c) Dictionary
(d) Encyclopedia

Itemcode : CD1165

Q34 Choose the correct word:
Father's will was the bone of for the children in a suit before the court.

(a) Fighting
(b) Contention
(c) Context
(d) Dispute

Itemcode : CD1215
Q35 Poor Mary was a bit of a at the dance.

(a) cornflower
(b) cauliflower
(c) wallflower
(d) wildflower

Itemcode : CD1218
Q36 Which of these is an adverb? It is

(a) quicker
(b) quickly
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(c) sly
(d) quickest

Itemcode : CD1221

Q37 Complete the sentence:
Hardly had he reached the airport

(a) when the plane took off
(b) so the plane took off
(c) then the plane took off
(d) and the plane took off

Itemcode : CD1223

Q38 Complete the sentence:
: There was very strong support for the police who were determined to this kind of crime.

(a) restrain
(b) manage
(c) curb
(d) kill

Itemcode : CD1224
Q39 Complete the sentence:

metabolic activity and exercise.

Animals and humans use the evaporation of water to heat that is absorbed from the sun or generated by

(a) carry through
(b) carry away
(c) carry off

(d) carry out

Itemcode : CD1226
Q40 Find the wrongly spelt word.

(a) Delusion
(b) Dovetail
(c) Deductable
(d) Diffident

Itemcode : CD1180
Q41 Find the odd one: Paris, London, Seoul, Shanghai

(a) Paris
(b) London
(c) Seoul
(d) Shanghai

Itemcode : CD1181
Q42 A toy cost Rs. 64 after a 20% discount. What is the actual price of the toy?

(a) 85
(b) 80
(c) 75
(d) 95

Itemcode : CD1188
Q43 Which one of the following word cannot be formed using the letters of the word: IMPRESSIONABLE

(a) Import
(b) Mobile
(c) Aspire
(d) Lesson

Itemcode : CD1189
Q44 KNQT: LORU:: ADGIJ: ?

(a) FHLO
(b) DGKN
(c) DGEF
(d) MPVW

Itemcode : CD1190
Q45 Which Figure represents the relation among: Religion, Hindus, Christians, Muslims, Women
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Itemcode : CD1230

Q46 Four smart phones A, B, C and D are priced differently. A is INR 2000 less than B. C is INR 1000 more than D.
Difference between price of D and B is INR 500, D is of greater value than B. Which phone is cheapest?

(a) A
(b) B
(c) C
(d) D

Itemcode : CD1232

Q47 You are given a short, informational paragraph and four answer choices. Look for the statement that must be true
according to the given information.

Erin is twelve years old. For three years, she has been asking her parents for a dog. Her parents have told her that they
believe a dog would not be happy in an apartment, but they have given her permission to have a bird. Erin has not yet
decided what kind of bird she would like to have.

(a) Erin's parents like birds better than they like dogs.
(b) Erin does not like birds.

(c) Erin and her parents live in an apartment.

(d) Erin and her parents would like to move.

Itemcode : CD1233

Q48 You are given a short, informational paragraph and four answer choices. Look for the statement that must be true
: according to the given information.

Last summer, Mike spent two weeks at a summer camp. There, he went hiking, swimming and canoeing. This summer,
Mike looks forward to attending a two-week music camp, where he hopes to sing, dance and learn to play the guitar.

(a) Mike's parents want him to learn to play the guitar
(b) Mike prefers music to outdoor activities.

(c) Mike goes to some type of camp every summer.
(d) Mike likes to sing and dance.

Itemcode : CD1237

Q49 Below are given two statements followed by two conclusions numbered I and II. You have to take the given two
statements to be true even if they seem to be at variance from commonly known facts. Read the conclusion and then
decide which of the given conclusions logically follow from the two given statements, disregarding commonly known
facts.

Statements: Some doctors are fools. Some fools are rich.
Conclusions:

I. Some doctors are rich
II. Some rich are doctors

(a) Only conclusion I follows
(b) Only conclusion II follows
(c) Either I or II follows

(d) Neither I nor II follows

Itemcode : CD1241
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Q50 If water is called food, food is called drink, drink is called blue, blue is called red, red is called white and white is called
brown, then what is the colour of blood?

(a) Red

(b) Brown
(c) White
(d) Drink

Itemcode : CD1191
Q51 Lantern is a party symbol of

(a) Samajwadi Party

(b) Bahujan Samajwadi Party
(c) Rashtriya Janata Dal

(d) Janata Dal United

Itemcode : CD1192
Q52 Who among the following was chosen as mascot for Swachh Bharat Abhiyan?

(a) Amitab Bachchan
(b) Lalgi Kishan

(c) Akshay Kumar
(d) Unwar Bai

Itemcode : CD1194
Q53 What is the full form of MMS?

(a) Multimedia Messaging Service
(b) Multi Media Site

(c) Multiple Messaging Service
(d) Motion Media Service

Itemcode : CD1201
Q54 Name the person who was arrested for spreading false news about Goa's Chief Minister?

(a) Kenneth Silveira

(b) Jack De Souza

(c) Dharmand Shirvoikar
(d) Dayanand Palkar

Itemcode : CD1209
Q55 Richter Scale is used to measure

(a) Wind speed

(b) Temperature of sea water
(c) Earthquake

(d) Speed of light

Itemcode : CD1252
Q56 A persistent fall in the general price levels of good and services is known as

(a) Deflation
(b) Inflation
(c) Depression
(d) Stagflation

Itemcode : CD1253
Q57 Who among the following can dismiss Governor of a state from his office?

(a) Lok Sabha

(b) State Legislative Assembly
(c) President

(d) Chief Minister

Itemcode : CD1261
Q58 The first car under 'Maruti' brand, Maruti 800 was launched in which year?

(a) 1975
(b) 1980
(c) 1983
(d) 1986

Itemcode : CD1263
Q59 Which movie owned the Oscars 2018 'Best Movie'?
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(a) Dunkirk

(b) Shape of Water

(c) Three Billboards Outside Ebbing, Missouri
(d) Call Me By Your Name

Itemcode : CD1266
Q60 The highest mountain peak in India is

(a) Mt.Everest

(b) Mt.K2

(c) Mt.Kangchenjunga
(d) Mt.Nanda Devi
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